@ SgUGl ! IR FM

H: ﬁ_'ﬂa;— W:_
4%+ 9x* + 9x — Ox + x° Ox® — 2x% + 2x — 2(9%° — 7x)
Tx+ 5% +3(6x% — 24%) — 4x 2%+ 200 + 20 — 5 —4y?
3(8x+ xz) + 2% — 7 + 6x° 3(4x+ 7x)+5x+ 3x+ 3x
3x— 9% + 3x — 3(4x° + 4x?) 8x° + 6x — 4(4x> + x%) + 4x°
4(3x3 — 5x) — o — & + 7x° ox + 2x% — 3(8x2 - 7x2) + 8x?
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dx+ 9 +9x — 9x + x°
¥+ 9% + 4x

Tx+ 5% + 3(6)62 — 2x2)— 4x
57 + 1222 + 3x

3(8x + x%) + 2% — T + 6x°
6x° — 2% + 24x

3x— 9% + 3x — 3(4x? + 4x?)
—0x> — 24x* + 6x

4(3x° — 5x) — ox® — 8x° + 7x°
2x° — 20x

Wz Eﬁ?z

Ox? — 2% + 2x — 2(9%° — Tx)
—112 + 16x

2% + 20 + 207 — 5% — 4x?
~7x + 4x?

3(4x+ 7x)+ 5x + 3x + 3x
44x

8x° + 6x — 4(4x° + x2) + 4x°
—4o — 42 + 6x

O + 207 — 3(8x% — 7x?) + 8x?

0 + Tx
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